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1. For the below Assertion (A) and

Reason (R) choose the correct
alternative.

Assertion (A) : Formative learning
tends to accelerate the process of
learning.

Reason (R) : As against summative
evaluation, formative evaluation is
highly reliable.

Select the correct answer from the
options given below-

A. Both Assertion (A) and Reason
(R) are true, and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true, but Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion (A) is true, but Reason
(R) is false.

D. Assertion (A) is false, but Reason
(R) is true.

1. = foQ MU emET (A) 3R R (R) & foe

T (A) : ToHTerss f3TeT e 6t afsran

I ST ShLd] 2

T (R) : ANTTCHE HeATH o6 T,

TETCHe oo STTde o1 2|

= for e ferereat # @ wEt S M-

A. I EET (A) 3 HR (R) =1 2, 3R
I (R), ST (A) T & TR 2|

B. M@ (A) 3 HRT (R) T &1 2,
AT ST (R), ETET (A) T T
TqEeRToT T R

C. @1 (A) Hel 7, Al HroT (R) TTetd
2l

D. &M@ (A) T4 §, Aok HR0T (R) Tt
2
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2. Match List - | with List - II.

List - 1 List - 11
(Level of Teaching) (Main Proponent)
(@) Memory level () Herbart
(b) Understanding level (I1) Morrison
(c) Reflective level (111 Hunt
Choose the correct one-

A. a-l, b-ll, c-lll
B. a-l, b-11l, c-ll
C. a-ll, b-ll, c-I
D. a-ll, b-1, c-1ll

Below are listed some learner’s

characteristics. Identify those that help

in effective teaching.

()  Learner’s respect for teacher.

(I1) Learner’s level of mental ability

(1) Learner’s previous experiences

(IV) Learner’s level of interest
towards relation

(V) Learner’s level of interpersonal
relation

(VI) Learner’s view about the society

Select the correct answer from the

options given below-

A. (1), (I1), (1) and (V1)
B. (1), (1IV), (V) and (VI)
C. (IV), (1), (1) and (I11)
D. (1), (111), (1IV) and (V1)

. g - [ E T - 113 SIEl s

gl - 1 g - 11
(F3reqor =1 =) (T qHF)
(a) T &R 0 T
(b) e &R A wed
OREEEESLS (III) &<
SHEISEIRCEIEEIIE LS

A. a-1, b-II, c-1II
B. a-I, b-1II, c-II
C. a-ll b-1II, c-I
D. a-IL, b-I, c-1II

. e Rrenffat i e forsrvand gefiares €

3 forsiwaret &t wg= ol ST guTet
f31e701 ¥ e whLd B

() Tevers & i fEremeff o6 v
(A1) Tareeff S amfer erar s &R
(111) TRrereff o freet s

(IV) sier o g faremeff &t &fr a1 w@@
(V) Tareeff o ureafies d@eiyr 1 TR
(V1) TuTst & R § frereff =1 gfyemror
e fow e forereat 7 @ wET I M-
A. (D), (ID), (I11) 31T (VI)

B. (IID), (IV), (V) 3T (VI)

C. (IV), (D), (II) 3 (11D

D. (ID), (IID), (IV) 3T (VI)
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4.

In order to identify individual
differences of learners in a class,
which of the following can be used by
a teacher?

A. Formative Assessment
B. Summative Assessment
C. Diagnostic Assessment
D. Peer Assessment

As learning is continuous, a teacher
must start teaching at the level of
students mind for their better learning.
This is called as-

A. Principle of Clarity

B. Principle of Association

C. Principle of Active process

D. Principle of Multiple Exposure

et 1 frenffan & Sarfren fafsrraren it
T A 7, T | forwent ot
187 ST

A. fwioTTeHs qeaien

B. ANTTcH JediohH /Hehe e Heaish
C. FamTHe qearied

D. THbE qedish

<ifeh |G T ©, T f3rereh i st
TG o 1T BT o feATT/RE % &R
FTHR UGTT [ AT =MME T4 gl S
8-

A. TIEdT o HeaTd

B. THIRUIE & feara

C. Gfsrr ufshar &1 faear
D

. UohTTIeh TaEUIS o feaT=a
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6. There are two sets given below. SET |

— specifies the research features, while

SET Il —indicates their basic point.

Match the two and give your answer

by selecting the appropriate code.
Research Features

(a) Reliability stable, consistent and
dependable

(b) Validity

(c) Intuition

(d) Objectivity
Basic point

(I) Entities, procedure or devices to
measure the dimensions that are
used to measure.

(1) Constantly thinking about the
research process and its progress

(1) Linked with any personal bias
may Vitiate research result

(IVv) Stable, consistent and
dependable

A. a-1V, b-1l, c-1ll, d-11
B. a-1V, b-1, c-I1, d-1lI
C. a1V, b-ll, c-1, d-1ll
D. a-lll, b-I, c-Il, d-1V

6. A ey E, SET I - AgHeH

fersiwaTd =nt ffds sweaT 2, S@feh SET 11 -

3o 1 fofg 1 3T Ear 81 ST o

it L 3R S i T =" e

YT I S-

(a) Torgerfirar R, gemd i wiane

(b) Jerar

(©) g

(d) Trsaerar
T fig

(I ST shi ATe o fofu gehrsa,
SfSRAT AT ITHTIT fSThT ST ATIH
% foru ferarm ST 2

(1) T TTshaT 3T STt i o T o
SUIGEEICLREE

(111) forelt +ff SfehT qatore & S[eT gt
ST RO Rl e oL HehelT 2

(V) e, g 3 wiase

A. a-lV, b-1, c-I11, d-1I

B. a-1V, b-1, c-II, d-11I

C. a-IV, b-I1, c-1, d-I1T

D

. a-1Il, b-1, c-1I1, d-1V
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7. Which sequence correctly represent
the stages of digital data handling in
research using ICT?

A. Data entry, data validation, data
cleaning, data analysis

B. Data cleaning, data entry, data
validation, data analysis

C. Data entry, data cleaning, data
validation, data analysis

D. Data validation, data entry, data
cleaning, data analysis

writing in the correct sequence.

() Edit and revise the article

(1) Conduct research and gather
information

(111) Outline the main points

(1V) Write the first draft

(V) Choose the topic

Choose the correct option-

A (V), (1), (1), (IV), (1)
B. (V), (I1), (1), (IV), (1)
C. (1), (V), (1), (IV), (1)
D. (1), (1), (V), (IV), (1)

Arrange the following steps of article

. I |1 3TI5HA [CT T 3TANT Hleh

e W feforeet Ser eier o =l

e ST Y iar 87

A. 30 IS (T, ST Tt
(fereym), Sor Ffif, Ser fageryor

B. T adifm, Ser afarst (), <t
AT (Sfrey), ST fagetyor

C. Serufast (), Ser T+, gar
T (AfAeye), St fargetsor

D. 21 HamA (fctes ), g1 afaf®
(Te), ST FAlTT, ST feargermor

. AE-Ed & fferiad =on sk et s

T aferd ohi-

() o HuTfed i 3T TN ol
(1) ITFET L RSB T bl
(1) T formg3tl sh L@iferd i

(V) UgaT g foad

(V) Tore &1 <A

A. (V), (IID), (I1), (IV), (I)

B. (V), (ID), (IID), (IV), (1)

C. (ID), (V), (II0), (IV), (I)

D. D, (11D, (V), V), (D)
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9. What is the correct order of stages in a

research cycle?

A. Literature review, hypothesis
formulation, data collection, data
analysis, reporting

B. Data collection, Literature review,
hypothesis formulation, data
analysis, reporting

C. Hypothesis formulation, Literature
review, data collection, data
analysis, reporting

D. Literature review, data collection,
hypothesis formulation, data
analysis, reporting

10. Assertion (A) : APA style requires the

inclusion of a running head on the title
page of a research paper.

Reason (R) : The running head helps
ensure that the author’s name is
clearly displayed on each page of the
document.

Choose the correct answer from the
options below-

A. Both Assertion (A) and Reason
(R) are true, and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true, but Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion (A) is true, but Reason
(R) is false.

D. Assertion (A) is false, but Reason
(R) is true.

10.

TeREll STTEYT =I5k o =RUI ol HeT e T
22

A. aTfecT guter, TieheuHT futor, e
B. T HUE, ATfecy T, Tished T

C. Ufeheusr fair, arfec gefier, g2t
D. HIecT THiel, 32T 6UE, Tiehed T

4T (A) : THT Sl | 9119 9 o 311k g8

U ek T 2 T it e Y

SATITIHAT Bl B

FRT(R) : T 8 I8 AT F | 7e8

AT & Toh ST o Yok I8 T T ol

T TI¥ ¥ T Jef¥id 2|

et fa o forsped & & Wt IR -

A. TET(A) I HA (R) SHT A B,
T (R), 1T (A) T TET THFHT 2

B. &M@ (A) 3N IO (R) ST HeT ©,
TAToh SRIUT (R), STET (A) 3T Tl
TqSeRToT T 2

C. @M (A) T B, Ak HROT (R) TeAd

2
D. M@ (A) T4 &, Aok R0l (R) T
2l
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11.

Read the following paragraph
carefully and answer question no. 11
to 15.

Every language is a person’s
mother-tongue, which cannot be
compared with another language as
small or big, good or bad, easy or
difficult, because in all languages
communication takes shape in their
own way. The languages of the world
show formal differences on the basis
of  different communities, but
internally there are more similarities in
them. Translation is possible because
of these internal or semantic
similarities. Each language is a world-
view, so the same object is known by
different names. To keep pace with the
world we have to learn other
languages, but not at the cost of our
mother-tongue, as learning other
languages becomes difficult without
knowing about mother-tongue.
Nowadays special attention is given to
Indian languages in our schools, in
which the medium of instruction in
primary classes would be mother-
tongue, for the development of
cognitive competence rests on mother-
tongue, through which he/she knows
the world.

The meaning of ‘world-view’ in every
language is-

A. The knowledge of the whole world
B. A viewpoint to see the world

C. Broad vision

D. Narrow vision

11.

freifeRa 3tg=ee i eaEs ug ST 9™
TEAT 119 15 o o W o-

s areT TRt 7 foet =gt it
AT Bt 8, okt gor fordt st
AT ¥ 39 &9 § &} I 51 Gehd! b I8
BT ¢ AT LS, =BT & A L, WA © A
hie, Fifer Tuft arel § Au-319 0
o HUWOT BT 2 WEE We ¥ HER
WTITHT 7 TTewe 3wt a2, g ATl
M © 3ITH G S €| SIS $R
TR IT AT FHFATSTT o HIT T
TIAT 81 TSk T Uk forva-gfy 7, seifoae
T & aeg f-fe et @ srfafea S
3 TUR & @Y T e = & fore
& ST AT o W wed § wg
CERE TR G| M A e e e e e M A
FI(Teh ATWTST o JH o foHT 3= WTHTE
TREAT hieT Bl 89N formrmerdt 0 31 TRt
qraraT W oy e foarn s @ 8, oo
TRIYeh f3TeT T AT HIATST &Y, Fifh
STool oh WIS &THAT ST TohTe HIqHTST
4 2 g, ol o) 7ot gfrer @ itfa
BT 2l

e T 8 “for-gfy o1 ared 2-
A. @y fqg I

B. foe 1 q@ =1 A=t

C. 9 ge

D. dehivi gfy
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12. Educationists treat mother-tongue as 12. Rrearerret Srfien fareT o fore ArqymsT 61
the best medium for primary Tt SURh AT SHTT I & foh-

education, because-
A. 3T 9T SHisd et &

A. Another language is difficult
B. Another language is inferior B. = e fee Bl &

C. Cognitive competence develops in C. FTQWTST § HTTCH &HdT T fashrd
mother-tongue HGIES
D. Unavailability of teachers of D. 7= 91T ¥ forerer 7 frery
another language '
13. “Cognitive Competence” means- 13. “HyTcH AT | ST -
A. Ability to read A. TeH sl &dm
B. Ability to write B @y e
C. Ability to speak
L C. svew o e
D. Ability to recognise
D. STHH-9&=H ! &HaT
14. “Similarity in languages” means- 14, «qraredi § FHEAT 1 e o-
A. Lexical A. eETd
B. Formal B ®qTq
C. Semantic
: C. T
D. Regional
D. &
15. What makes translation possible due 15. afqare fore-farer wrrsAl # ffed for
to inherent similarity in languages is- AT § 999 8T 2, 98 ©-
A. Lexical N
B. Formal B
C. Stylistic
D. Semantic C. drefra
D. 7da
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16.

17.

Select the most appropriate option

based on the given observations-

() Non-verbal signals play an
important part in the
communication process.

(1) Handshake is an example of
subliminal non-verbal
communication.

(1) Feedback is inconsequential part
of communication process.

(IV) Different cultural norms and
values do affect the effective
communication.

Which of the following is incorrect

about communication?

A. (D), (I, (1) and (1V)
B. (I, (1) and (1V)

C. (1) and (1) only

D. (1) and (IV) only
Arrange the following steps of the
process of communication-
(a) Feedback

(b) Decoding

(c) Encoding

(d) Ideation

(e) Transmission

Select the correct answer from the
options given below-

A. (b)>(e)>(d)>(c)>(a)
B. (€)>(a) > (c) > (d) > (b)
C. (d)>(b)>(c)>(a) > ()
D. (d)>(c)>(e) > (b) > (a)

18. Select the most appropriate option

based on the given observations:

() Communication is the process of
exchanging information

(1) A common system of symbol is
not required

(111) The objective of communication
Is the creation of shared
understanding.

Select the correct answer from the

following options-

A. (1), (IN) and (111)

B. Only options (1) and (1) are
correct

C. Only options (1) and (111) are
correct

D. Only options (1) and (I11) are
correct
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19. Select the most appropriate option 20. Which type of information is most

based on the given observations- spread through grapevine
() Inupward communication the communication?
employee tends to highlight their A. Official policy changes

accomplishments and downplay B
their mistakes.
(1) Negative information tends to be C. Formal project updates
ignored or disguised. D. Technical data and analysis
(1) Upward communication occurs
far less frequently.
(IV) Upward communication
comprises of Instructions and
directives.
Select the correct answer from the
following options-

A. (D), (IO, (1) and (1V)
B. (), (1) and (1V) only
C. (), (1) and (I11) only
D. (1), (1) and (1V) only

. Personal news and rumours

21. Find the number that should come at 21. gETEe (ST o €U 9T 39 91 37k
the place questions mark- 1 JTd I
10 20 31 ? 56 70 10 20 31 7 56 70
A. 42 A. 42
B. 43 '
Cl 44 B- 43
D. 45 C. 44
D. 45
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22. 22.
If 5:%,then match the value from f:% 2 AN &Y - 11 o | o1 &Y -
y
(Column 11) with each ratio o AT o AT GHIATd shiToTa-
(Column I). TR - | TR - 11
Column - | Column - 11 S——
(Ratio) (\Value) (?3—) )
2X <X
(& — 0 2 @ 3 O 2
J 3
X
(b) 3_X ay 5 (b) 7 an s
‘ 3X+2 4
3X+2y 4 X+z2y 4
C "y - (©) (I11)
© 3x -2y (1 3 3x -2y 3
3x -2y 1 Q) X-2y 1
d Iv) = (d) (IV)
(d) 3X + 2y (V) 5 3X+2y S
A. a-l, b-1, c-Il, d-1IV A. a-IL b-L, c-IIL, d-IV
B. a-lll, b-1, c-ll, d-1V B. a-III, b-1, c-II, d-IV
C. aIV,b-1, c-Il, d- C. a-1V, b-L, c-I1, d-III
D. a1V, b-l, c-1il, d-1I D. a-IV, b-1, c-III, d-I
23. Which is the greatest fraction in- 23. &M 91 gad Heaw =T 87
62501 6 2 5 19
23'23'23'2 23'23'23' 23
A. i A. 6
23 23
B. 2 B. 2
23 23
C. 5 C. 5
23 23
D. 19 D. 19
23 23
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24,

25.

8% of x and y = 0.04 and 0.004,
respectively. Find x and y.

(H 05

(1) 0.05

(1) 0.005

(V) 0.0005

A. (1) and (1)

B. (I)and(I)
C. (D) and (1)
D. (I and (IV)

By selling a chair for Rs. 400, the
seller incurs a loss of 20%. What is the
cost of the chair and for how much
should he sell it so that he gains 8%?
() 480

(1) 500

(1) 540

(Iv) 518.4

Select the correct answer from the
following options-

A. (1) and (111)
B. (1) and (I11)
C. () and (IV)
D. (I) and (1V)

24,

25.

SRETST: X 3T 8 TSI = 0.04 YT y T 8
faeTd = 0.004 B Y x qT y T | EITT-
I 0.5

1) 0.05

(I1I) 0.005

(IV) 0.0005

A. (1) T (ID)

B. (II) dt (I)

C. (I)@rm (IN)

D. (II) aur (IV)

T T % 400 T H srer o frshT i
20% BT TS| 36 e ot AT foreh aArTd
7 82 a7 fora w93 & S 9T forshar sl
8% ST BT

I 480

) 500

(I) 540

(IV) 518.4
7 o O et ST ot = hifsR-

A. (D) T (11I)
B. (II) @@ (1)
C
D

. (D) @& (IV)
. (ID) TAT (IV)
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26. Statements : Some books are pens.

No pen is pencil.

Conclusions:

()  Some pens are books.

(I1) Some pencils are books.
(111) Some books are not pencils.
(1V) All pencils are books.
Which of the above conclusions
logically follow from the given
statements?

A

Only (1) follows

B. Only (I) and (111) follow
C.
D. Only (1) and (1) follow

Only (11) and (111) follow

26. e : @'@ﬁﬁﬁaq%l
13 oft 47 o 72 R)
fersap:
(I) %o U & &
(1) o Ufaet T&dh 2l
(III) % &k Uf~ae T2 2l
(IV) @it uf-eret qeaeh &
YRR TSRS 8§ | i HUR 0T he
TR UTe LT &2

A. hdeT (1) 9Tt T H

B. ahadt (1) T (I1I) It L &
C. ahad (I1) qT (I11) Il L &
D. ahaet (1) @ (1) U1 hid 2l
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27. Match the Pramanas (Column - I)

with their corresponding definition

(Column - 11).
Column - |

(a) Pratyaksha (1)

Column - 11
Knowledge
through
comparison or
similarity.
Perceptual
knowledge
obtained through
senses.

(c) Shabda (1) Knowledge
derived from
verbal testimony
or words of
reliable sources.

(V) Knowledge

(b) Anumana  (I)

(d) Upamana

obtained through
Inference.

A. a-ll, b-1V, c-lll, d-1

B. a-lll, b-1, c-1V, d-ll

C. a-lV, b-ll, c-1, d-11I

D.

a-1, b-111, c-11, d-1V

27. gHfeTd ShIfSTT - SHTOT (TP - 1) QT 37k

TTufeTeR TfeTTST =R (TR - 1)
T - [ e - 11
(a) T&T  (I) T ST GHTAT o
ST 9
(b) ITFAT (II) G oh ST TR
RIGI
(111) HtRges JHTOT 7T
THT{OTeR BT T 976
(d) STE  (1V) Frshe 3 SATeR o 9w
SIC

(c) Mo

a-11, b-1V, c-I11, d-T
a-111, b-1, c-IV, d-1I

a-1V, b-11, c-1, d-1II

o o w >

a-1, b-111, c-1II, d-IV
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28. Statements : All politicians are honest.

29.

All honest are fair.

Conclusions:

(I)  Some honest are politicians.
(1) No honest is politician.

(1) Some fair are politicians.
(IV) All fair are politicians.
Which of the above conclusions
logically follow from the given
statements?

A. Only (1) follows
B. Only (1) follows
C. Only (I) and (I1) follow
D. Only (1) and (1) follow

Which of the following statements is
correct with regard to the given
figure?

A. (a) and (b) are in all three shapes.

B. (e), (a), (b), (c) are in all three
shapes.
(b), (g) are in all three shapes.

D. (a), (d), (b), (c) are in all three
shapes.

O

OR

28.

29.

w9 ;. Tt TerfaT SAHER B €
auft SuTeR fAvaer 2 &)

forsen.

(D TS SR TSHITAS 8

A1) S off SHHER TeHifas 7= Rl

(1) s fraey aeife &)

AV) Gt Freaer Tifas )

I Tkl & § ey T dehgh qTer

I LT B2

A. I (I1) STTEROT AT &

B. %ad (I) 3TTaT LT &

C. ad (I) 3 (I1) ST HLd &

D. #ad (I) 3 (I1I) STTET L &

EORIPRCERCTC It ta E =R k= ReaE k)]
T Tl B?

A. (a) 3T (b) T TTefa & &

B. (e), (a), (b), (c) <fHT 3Tk & 2
C. (b), (g) T mepfa & &

D. (a), (d), (b), (c) T el & |
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30.

Only for visible impaired
candidates.

Which statement represents the
subcontrary relationship in the
classical square of opposition?

A. All cats are mammals.

B. Some cats are not mammals.
C. Some cats are mammals.

D. No cats are mammals.

Select a suitable figure from the
answer set which will substitute this
question mark so that a series is
formed by the figures I, I1, 11l and IV
taken in order-

o ©|” © X O

Z  0]0 \ o
| 1 Il \Y)

A [N

o
o N[N o A_©

O
o
o N

OR

30.

hHae gEaTTer srvaret o foru)

1T T hUF FATH R IR 3TF
I o Harhiel FetymiymT st
TRl ST 82

A. wft fofoemat waaarm 21

B. % fefcemar st 72 2

C. % fafcemt warh 2|

D. 13 ot foreedt waamht 7= 21
frferfaa STt & B @ gy e &
T O UHT 9 Tort =t hifoRr

foree femt 1, 10, 110 9 [V % 550 § T
goft frfar 2 k-

o &~ o X\ ©O
A 0|0 N ? o <

| I i \Y,
A [x ©

o
B. [\ ©

o /
C.Jlo

W O
D. [o gy

W O

YT
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31.

Only for visible impaired
candidates.

Which among the following is not a
value as propounded by the Indian
traditional concept of Purushartha?

A. Dharma

B. Artha

C. Bhakti

D. Moksha

Direction : Study the graph given
below and answer the question.

Travel Industry Sales turn over (In crores)
500 T

400 4 379
300+ 253

200+

| 195 150
o - U D
L[]

2015 2016 2017 2018 2019

Which year witnessed the maximum
growth in sales turnover in percentage
In terms respect to the previous years.

A. 2015
B. 2016
C. 2018
D. 2017

OR

31.

e EETIHA Tt o foTul

TS} Shl AT RN SATEROT o SH
et o & foperent o e 22

A. g

B. 319

C. afh

D. =iet

TP AT STIIohT L 3fed 3T 2a-

ol 2P A e (we
400 + §Z§
300+ 253

200

1
i » 150
100 | 63 U D
oL_L]

2015 2016 2017 2018 2019

e s <61 T 3 e 5 et £ e
¥ fesfy v i e afe ST
A. 2015
B. 2016
C. 2018
D. 2017

AT
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32.

Only for visible impaired
candidates.

Direction : Study the following table
carefully and answer the question.

Town Graduates | Post-graduates
A 10,000 8,000
B 25,000 18,000
C 15,500 10,500
D 20,000 16,250
E 24,000 20,000
F 16,500 18,500

What is the ratio of the number of
graduates from town A and town B
together to the number of post-
graduates from town A and B
together.

A. 26:35
C. 25:36

B. 35:26
D. 25:32
Direction : Study the graph given

below and answer the question.

Travel Industry Sales turn over (In crores)
500 T

400 + 379
300+ 253

200+

| 195 150
o - U D
L L]

2015 2016 2017 2018 2019

What is the approximate growth
between the year 2015 and 2019?

A. 400% B. 600%
C. 500% D. 525%
OR

32.

e gETETIY STt o forul

faT ; FfeTRad |t st ermges 9eig
3 AT o I AT

RIRRS &ld<h EAldehl L

A 10,000 8,000

B 25,000 18,000

C 15,500 10,500

D 20,000 16,250

E 24,000 20,000

F 16,500 18,500
I A 3 B 9 fielrernt & 1den! &Y @&an
T I A 3 B 9 ToATRt SR shi
AT § ST T 82
A. 26:35 B. 35:26
C. 25:36 D. 25:32

TP AT IR L 3fed ST aa-

ol AP A s ()
400 + 32
300+ 253

200+

1
i % 150
- U D
L L]

2015 2016 2017 2018 2019

a9 2015 T 2019 o HEA AT e
JRg FAT?
A. 400% B. 600%
C. 500% D. 525%
aTeraT
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33.

Only for visible impaired
candidates.

Direction : Study the following table
carefully and answer the question.

Town Graduates | Post-graduates
A 10,000 8,000
B 25,000 18,000
C 15,500 10,500
D 20,000 16,250
E 24,000 20,000
F 16,500 18,500

What is the total number of graduates
and post-graduates in town A, D and F
together?

A. 90250
C. 89250

B. 88250
D. 85500

Direction : Study the graph given
below and answer the question.

33.

e gETETIY STt o forul
far ; FfeTRad |t st erges 9eig

HIT 4T % I ARTT-

RN Hldch ldchl ¥
A 10,000 8,000
B 25,000 18,000
Cc 15,500 10,500
D 20,000 16,250
E 24,000 20,000
F 16,500 18,500

T A, D U9 F fHore Sde U
AT 1 et HEAT TohaHT 82
A. 90250 B. 88250
C. 89250 D. 85500

T hT STACATohT i 3 I 2a-

Travel Industry Sales turn over (In crores) 500 + & foret il ot st (7S #)
500 1 400+ 379
400 + 379 [ ]
200 ] 3001 253
253 0l 105
2004 195 o 150
100+ 63 |:| |:|
100+ 63
|:| |:| 0 I:l ' ' ' '
0 . . . . . 2015 2016 2017 2018 2019
2015 2016 2017 2018 2019 %ﬁaﬂﬁﬁ Wﬁ ma&a@qﬁv
How many years witnessed more than °
average growth? A 2
A 2 B. 3
B. 3 C. 1
C 1 D. 4
D. 4
OR AAAT
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Only for visible impaired

candidates.

Direction : Study the following table
carefully and answer the question.

Town Graduates | Post-graduates
A 10,000 8,000
B 25,000 18,000
C 15,500 10,500
D 20,000 16,250
E 24,000 20,000
F 16,500 18,500

What is the average number of post
graduates in all the towns together?

A. 15208
B. 15007
C. 16250
D. 15530

vt g arearfife 3 form)

faT ; FfeTRad |t st ermges 9eig

S T4 o I <iferu-
RIRRS &ld<h EAldehl L
A 10,000 8,000
B 25,000 18,000
C 15,500 10,500
D 20,000 16,250
E 24,000 20,000
F 16,500 18,500

it 3T H THetTeRt STdaeniay sht 3fted

T forat €2

A. 15208

B. 15007

C. 16250

D. 15530
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34. Match the appropriate answer. 34. 3fuq I gry firem -

Scale S ICICLICH
(I) Ordinal scale

(1) Nominal scale

(I)  ShHSTIh/shHEI
N

(111) Interval scale (D) e AT = A
(IV) Ratio scale (II1) et /9T
Characters (IV) 3T
(@) It contains features of all three. ferdramd
(b) Quality rating and agreement T e o~ .
rating are example. (a) A A |§|'<\5| 'E”.Q%'
(c) There is always arbitrary zero (b)  TTUTEIT LT TS FTsrer T 56
points. IJETELT 2
(d) Vahriablgs are exclusive and (c) TSI U HEHT (Arbitrary) =
exhaustive. ,
A. I-c, lI-d, lll-b, IV %Fg’%ﬁ?ﬂ%l
. -Cl - ] - 1) -a . . ¢
(d) = fafire vd ot &
B. I-b, ll-d, lll-c, IV-a
C. I-a, lI-b, 11I-d, IV-c l-c, II-d, TII-b, IV-a
D. I-d, ll-c, lll-a, IV-b [-b, 1I-d, Ill-¢, IV-a

I-a, II-b, ITI-d, TV-c

o o w >

I-d, T-c, ITl-a, IV-b
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35.

36.

37.

Direction : For the below Assertion
(A) and Reason (R). Choose the
correct alternate.

Assertion (A) : There is no gap
between the bars in a histogram.
Reason (R) : Histogram is suitable for
continuous random variable so classes
are continuous.

A. Both Assertion (A) and Reason
(R) are correct and Reason (R) is
the correct explanation of
Assertion (A).

B. Both Assertion (A) and Reason
(R) are correct but Reason (R) is
not the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

Which of the following is an email

client?

A. Gmail

B. WhatsApp

C. Instagram

D. Telegram

Which Indian portal is designed to
provide single window access to
various government services?

A. MyGov
B. DigiLocker
C. UMANG
D. BHIM

35.

36.

37.

fager : i fou 79 e (A) T FRT (R)

o fore =t ferered =H-

I (A) : R 0 &1 a1 & He g

STt T2 2T 2

FRT (R) : TR T =X o T 39k

=IAT € 37 71 Haq &I 2l

A. FF (A) T FHRIT (R) ST Tt e
ST (R), I (A) T &) I 2

B. F (A) U HIOT (R) A1 Hal © qT
T (R), FTH (A) i T&l AT
Ta 7l

C. & (A) T & AfehT 1T (R) Terd

2l

D. R (A) TTAd 8 W HROT (R) € 2

freferiiad o & 19 61 T $H Felmse 22
A. Staa

B. SeIcHTd

C. F=m™

D. efum

I T TEeTt et forfir= Tt faret
e Uohal flageh! Uga JaM & o fog

gloreT 3T 87
A. T8 TR
B. fesiarent
C. 3HT
D.
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38.

39.

40.

41.

What is the full form of VoLTE?

A. Voice on Latest Technology
Efficiency

Voice over Long Term Evolution
Video on Long Text Editing

D. Voice on Latest Technology
Editing

O w

Which of the following technology is
commonly used in e-Governance for
secured transactions?

A. Blockchain

B. Social Media

C. Atrtificial Intelligence (Al)
D. Virtual Reality (VR)

What does “MOOC” stand for in the
context of digital education?

A. Modern Online Organizational
Causes

B. Modular Online Optional Courses

C. Managed Open Online Courses
D. Massive Open Online Courses

In which of the following, ozone layer

is found?

A. Troposphere
B. Mesosphere
C. Stratosphere
D. Exosphere

38.

39.

40.

Freuedts s fferiad 3 & feraen
gfguff gree 22

A. FT3H AT AL TS TfARTTET
B. dTed 37 ol o gaiegeH

C. fafgem it wfm o wfefem

D. a8 3 wewe STt ufefen
A TTa o g 37T & |rEmoras:
forer depiien a1 SURINT fohar STraT 82

A. SR

B. @ wHifean

C. bW Sfegaer

D. SATTET ST ferehar

fesfieet farerr & deyf & “umeaete &t
T 319 87

A. TTEH SAMATET TSI HIEd
B. HISICR A AR HIH

C. BisE AU AT FHIEd

D. AfEa 3T AT Hidg

. T o o fore TSI Y aTS STt 82

A. &vHed
B. HegHSA
C. gHdHSA
D. seHsd
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42.

43.

Identify the correct sequence (in
increasing order) of life times of the
following Green House Gases in
Atmosphere.

(a) Methane

(b) Nitrous oxide

(c) Surface Ozone

(d) CFC-1l

Choose the correct answer from the
options given below-

A. (b), (d), (), (c)
B. (c), (a), (d), (b)
C. (d), (b), (c), (&)
D. (b), (d), (). (&)

Match the following-
Column - |
(a) World Environment Day
(b) World Water Day
(c) World Sustainable Energy Day
(d) World Earth Day
Column - 11
() 22 March
(1 22 April
(1) 25 February
(1V) 5June
Which of the following will be right
answer?

A. a-l, b-ll, c-1V, d-ll1
B. a-1V, b-1, c-11, d-ll
C. a-lll, b-1V, c-IlI, d-I
D. a-ll, b-lll, c-I, d-1V

42.

43.

argred # frefeiad sid s Tt 6t
Sfie w1et (@ 79 H) T =T 5T 1
s
(a) Hie
(b) TS HATFATES
(c) Tael I
(d) HTHHT-11
fferfaa fasreat @ @ ot ST FHT =TI
EISDY
A. (b), (d), (a), (c)
B. (c), (a), (d), (b)
C. (d), (b), (c), (&)
D. (b), (d), (c), (a)
T =T gHTeTd ShifoI-
Y- 1
(a) Tag vaiaw fiiaa
(b) fog e feam
(c) Tagdya =i faaw
(d) Torg gedt fiagw
&Y - 11
1) 220
1) 22 3
(II1) 25 BERT
(IV) 53H
T & & o a1 el ST E?
a-l, b-11, c-1V, d-111
a-1Vv, b-1, c-111, d-11
a-11, b-1V, c-Il, d-1
a-l, b-111, c-1, d-1V

OO w>
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44,

45.

46.

Given below are two statements-
Statement - | : All potential pollutants
are harmful chemicals.

Statement - I : For the production of
harmful chemicals human beings are
responsible.

In the light of above statements,
choose the correct answer from the
options given below-

A. Both Statement | and Statement |1
are true.

B. Both Statement | and Statement 11
are false.

C. Statement | is true but Statement I
is false.

D. Statement | is false and Statement
Il is true.

With an objective of Environmental
Conservation, in which of the
following, proposal of long term - low
emission was passed in October 2020?

A. Montreal Protocol

B. Paris Agreement

C. Kyoto Protocol

D. International Solar Alliance

The first University in India
established in the year 1857 is located
in which city.

A. Mumbai
B. Kolkata
C. Nagpur
D. Chennai

44,

45.

46.

CIEE A CORIDE

e [ : wvft FTferd TR BTHehIh
A B B

o 11 : BT T o 0T &
T SRR R

SHURR AT o ITER 1 =ferRaa
forshedt o O Tt ST T = hifsA-

A. T [ T H [ SHT 6 3

B. e [ TT U 11 I 37 g
C. Y [ ¥cd & Wq o 11 16 T
D. Y [ 30T & Wq o 11 6 ¢

T TeIoT EET0T o 323 § T 7 9 fores
eI - [T ICSI T TEdTe TS
2020 T Tl fomam T

A. Hifeae gfer

B. ufte wmeiiar

C. Fer gty

D. 3iauisi | ey

aTCd bt go foraforener, fSaehY Temmr
T 1857 | T 1S, i @7 e 7 frerq 87
A. Twg

B. @hicTehrdl

C. AT

D. o=T§
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47.

48.

Which is the oldest university

established in the State of

Chhattisgarh?

(a) Pt. Ravishankar Shukla
University.

(b) Guru Ghasidas Vishwavidyalaya

(c) Indira Kala Sangit
Vishwavidyalaya

(d) Atal Bihari Vajpayee
Vishwavidyalaya

A. Only (a)

B. Only (d)

C. Only (b)

D. Only (c)

Which of the following has not been

identified as one of the major problem

faced by Higher Education system in

India, as per NEP 2020?

(a) Limited teacher and institutional
autonomy.

(b) an ineffective regulatory system.

(c) aseverely fragmented higher
educational ecosystem.

(d) High dropout rate in Higher
Education.

Only (a)
Only (c)
Only (d)
Only (b)

oo wp

47.

48.

SUATETE U H el AT T
frafoamaa R ar g?

(a) . Tferiert gpet forafaramer
(b) T ETEieE feafaare

(c) it s wifia fergfemmer
(d) 31 forert et fergfemmer
A. FHad (a)

B. %dd (d)

C. Faa (b)

D. aw_OIFT(c)

VT oh e e Sorredt i | e

THET T = NEP 2020 gRT T8t Y T8

27

(a) ENfia fTereh TR HEumTa TR

(b) T TS farfrmmes Jorreft

(c) TR ET T Wied Seaat Nferw
gttt o=

(d) IeuaL F31eTT 3= Bied it &

A. FHad (a)

B. %ad (c)

C. & (d)

D. %ad (b)
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49. On the basis of establishment, arrange

in chronological order-

(I) Establishment of Indian Institute
of Technology, Kharagpur.

(I1) Establishment of Indian Institute
of Management, Ahmadabad

(111) Establishment of All India
Institute of Medical Sciences,
New Delhi.

(IV) Establishment of Council of
Scientific and Industrial
Research in India.

.y, (1, (1), (IV)
(), (1), (1V), (1)
(V) (1), (1), (1)
., (1IV), (1), (1)

O 0O W >

49. TTOHT o HTER T HIATIsh o, 560 H

e -

(I) R SRIeh! S, T ht
T

() 9RART Jeie T, STEHSATE ahl
T

(1) 3TRaet TR STfa weer, 7%
foeeft T Temo|

(IV) YR § AT qem s
FTEUT TIE 3T TT9T

A. (I), (1), (I), (IV)
B. (D), (IIL), (IV), (IT)
C. (Iv), (D), (1), (I
D. ), (IV), (II), (D)
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50. Match List - I with List - I1.

(@)
(b)

(©)

(d)

)
(1

List - |

(Name of Institution)

Indian Institute of Science
Postgraduate Institute of Medical
Education and Research

Central Leather Research

Institute

Indian Institute of Petroleum

List - 11

(Name of City)
Chennai
Bangaluru

(1) Dehradun
(1V) Chandigarh

A

B
C.
D

a-1Vv, b-111, c-11, d-1

. a-ll, b-1V, c-I, d-111

a-Il, b-1, c-1l1, d-1V

. a-ll, b-1Vv, c-IlI, d-1

50. =t - [ o1 =T - 11 & e it

(b)

(c)
(d)

(M

-1
(G T A1)

BEGIRNERIERISIC)

EATh I ferfehcaT et uel Srgee
G

TR Ugifora Heer

-1

(ST 3T ATH)

EaH

(I) =TTe
() SeTgT
(IV) TvEnTg

A

B
C.
D

a-1V, b-111, c-1I, d-I

. a-1l, b-1V, c-1, d-1II

a-11I, b-1, c-III, d-IV

. a-1Il, b-1V, c-1II, d-1

M-20472-BY-MYN-ELE-2TRO
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30| SETA

IR 3iTeha R T 0T 1 ger arfereRaw 3ieh : 100
Time for making answers : 1 Hour Maximum Marks : 100
e :

1. 38wy ufeasht # 50 FEfAg war fau T )

eI T o ToTe 2 ofes eriia § | asft o e 21

2. 9t % I, € T OMR ITIE (3TEwsiie) W sifena fifvm )

3. SRUITCHe HodTeh Tgt fehdl ST |

4. Torelt oft TXE O SHeTHeIeR AT AR TS TS HIATSE Wi hT ST S § |
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Note :

1. There are 50 objective type questions in this booklet. All questions
are compulsory and carry two marks each.

2. Indicate your answers on the OMR Answer-Sheet provided.

3. No. negative marking will be done.

4. Use of any type of calculator or log table and mobile phone is
prohibited.

5. While using OMR Answer-Sheet care should be taken so that

the Answer-Sheet does not get torn or spoiled due to folds
and wrinkles.
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